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QUESTION 1

How will the following command change the datalv logical volume? chlv --e m datalv 

A. The logical volume will be encrypted with the key in a file named "m". 

B. The logical volumewill be rebalanced across the maximum physical volumes immediately. 

C. The logical volume will have new logical partitions spread across as few disks as possible. 

D. The logical volume will be rebalanced across the minimum number of physical volumes immediately 

Correct Answer: C 

 

QUESTION 2

Which technology provides the maximum amount of usable storage and resilience for a system with 6 physical
volumes? 

A. RAID 0 

B. RAID 1 

C. RAID 5 

D. RAID 6 

Correct Answer: C 

 

QUESTION 3

During a recent network outage, the failover to the secondary DNS server was taking too long. The administrator found
the RES_RETRY and RES_TIMEOUT values needed to be updated. Where are these values updated? 

A. /etc/inetd.conf 

B. /etc/rc.net 

C. /etc/security/limits 

D. /etc/environment 

Correct Answer: D 

 

QUESTION 4

In the following graphic, the administrator created an additional paging space using smit mkps. The paging space is not
active. What is necessary to start using the new paging space? 
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A. Use swapon to activate the new paging space. 

B. Reboot the server to activate the new paging space. 

C. Vary on the pgvg volume group prior to creating the new paging space. 

D. Use chps with the -a y flag to activate the new paging space for immediate use. 

Correct Answer: A 

 

QUESTION 5

Which command will change the database object for the primary dump device to dumplv permanently? 

A. sysdumpdev –P –p /dev/dumplv 

B. sysdumpdev –d /dev/dumplv 

C. mkdumpdev –p /dev/dumplv 

D. sysdumstart –p /dev/dumplv 

Correct Answer: A 
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